
CHELSEA

New Chelsea Commuter Rail Station 
Opening for Service on November 15.
Old Station Will Close at End of Service on November 14.

The MBTA is pleased to announce that the new, 
fully accessible Chelsea Commuter Rail station 
next to the final SL3 stop on Everett Avenue in 
Chelsea will open for service on Monday, November 
15. The new, multimodal station will connect the
Newburyport/Rockport Commuter Rail Lines to
the SL3. The new station features full high-level
platforms for boarding, canopies and benches, new
sidewalks, security cameras, passenger assistance
telephones, lighting, and more.

The current station on Arlington Street will continue 
operating until it is permanently closed on  
Sunday, November 14, after the last train departs  
at 11:11 PM.

Please plan your trip accordingly. In the event that 
you accidentally arrive at the old station on or after 
November 15, you may walk or take the SL3 to the 
new station. Signs and MBTA Transit Ambassadors 
will help guide customers as they walk along this 
route.

Walking directions
1. Cross Arlington Street and travel north on 6th St
2. Turn left on Spruce Street and cross the train 

tracks
3. Continue past MGH Chelsea and turn right on 

Everett Ave
4. The new station will be on your left after 

Santander bank, before the train tracks

Riders may also take the Silver Line 3 (SL3) between 
the old and new stations by taking an outbound bus 
from Bellingham Square to Chelsea Station.

Be safe! Please do not walk along the Commuter 
Rail tracks or Silver Line busway. Cross tracks and 
busways only at marked pedestrian walkways and 
look both ways before crossing.

For more information about this project, please visit: 
www.MBTA.com/ChelseaStation

For project questions or comments, please email us:  
ChelseaStation@mbta.com 
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